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Introductions



CAN 
versus 

SHOULD



BALANCING Inventory

CAN
BE BE 

DONE!!!



BALANCING Inventory

It takes TIME

It takes ATTENTION TO DETAIL

It takes EFFORT

It is ALL OR NOTHING

Even for… ECLIPSE users!



What is “balancing”

Men 13

What is “balancing”



Stock Status = Detail

Average Cost * Quantity on Hand

General Ledger = Summary

Summary of ALL monthly transactions



Make Detail 
match 

the Summary

The GOAL

the Summary

Use correct Processes, Procedures 

and Accounting Reconciliation.



BALANCING Inventory

Isn’t just about making sure the 
accountants are happy, it means…

�Accurately measuring profitability�Accurately measuring profitability

�Realistically monitoring Cash Flow

�Properly planning for Growth 

�Correctly paying Taxes

�What else….



Average Cost



• The total cost of the items currently in stock 
divided by the number of items in stock.

• Recalculated every time you record the 

Average Cost is…

purchase of more units of the item. It adds the 
cost of the new items to the cost of the old 
stock and then divides by the total number of 
new and old items.



• Buy a battery for $1

• Buy a second battery for $2

Average Cost is…

• Two batteries on hand = average cost =$1.50



• Calculated 1000s of times per day

Average Cost is more 
complicated…

• Calculated on 1000s of SKUs

• Basis for EVERY transaction



Average Cost is found…
m12.3.2.3 (by warehouse)



Average Cost is found…
Stock Status

What does Average Cost tell you….



• Product is received 

• Bill is vouchered in 13.20.2

Average Cost is updated 
when…

• Bill is vouchered in 13.20.2

• Manual change to Product detail

• EOD System Calculation (custom)



Do you think you can do it better, 
faster, smarter than the computer?

122*22.97 + (120*24.417 - 120*22.952) = 2802.34 + (2930.04-2754.24) = 
2978.14/122 = 24.410 Avg Cost

122*24.410 + (120*24.417 - 120*22.952) = 2978.02 + (2930.04-2754.24) = 
3153.82/122 = 25.850

122*25.85 + (120*23.69 - 120*22.952) = 3153.70 + (2842.80-2754.24) = 
3242.26/122 = 26.578



Average cost - too important to neglect

(show real-time changes and impact)

ONE Part/ $1 Variance

Average Cost $5.00 $6.00 

Quantity Sold 500 500Quantity Sold 500 500

Sell Price $10 $10 

Total Sales $5,000.00 $5,000.00 Difference

Total Profit $2,500.00 $2,000.00 $500.00 

Tax Rate $825.00 $660.00 $165.00 

Bonus 10% $250.00 $200.00 $50.00 



Here is the SCARY example to 
get you to agree with what I 

am saying & do what I say… 

Number of SKUs an Avg Johnstone sells….. 20,000

$0.15

500,000$    

IF 1/3 are wrong by…….

Calculated Profit could be wrong by…



Average Cost Calculation
*See handout

10

42.00$   

5

30.00$   

Step ONE

Average Cost Calculation/Example

Calculation

Quantity on Hand

Current Average Cost (ea)

Purchased Quantity

PO Cost (ea)

Step ONE

Quantity On Hand * Average Cost = Value at Average Cost

10 42.00$       420.00$                  

Step TWO

PO Qty * PO Cost = Value of PO 

5 30.00$       150.00$                  

Step THREE

Value at Average Cost + Value of PO = Inventory Value

420.00$                  150.00$     570.00$                  

Step FOUR

Inventory Value / Total Quantity = New Average Cost

570.00$                  15 38.00$                     



Average Cost Example

PO Qty 3

Po Cost each $                 1.00 $     3.00 

Sell GP % 30%

Sell Price $                 1.43 

Qty on Hand (vouchering) 3Qty on Hand (vouchering) 3

Vendor Bill $                 2.00 $   6.00 

IF Ignore Avg Cost IF use 13.20.2

Stock Status Avg Cost $                 3.00 CORRECT Avg Cost $                   6.00 

Sell @ 1.43 $                 4.29 Sell @ 1.43 $                   4.29 

Profit $                 1.29 Profit $                  (1.71)

30% -40%

Avg Johnstone 2.2 lines per ticket



Average Cost Example

PO Qty 3

Po Cost $           1.00 

Sell GP % 30%

Sell Price $           1.43 

Qty on Hand (vouchering) 1

Vendor Bill $           2.00 

IF Ignore Avg Cost IF use 13.20.2

Stock Status Avg Cost $           1.00 CORRECT Avg Cost $                         4.00 

Sell @ 1.43 $           1.43 Sell @ 1.43 $                         1.43 

Profit $           0.43 Profit $ (2.57)

30% -180%

Two @ $1.43 "GP" $                         0.86 

Avg Johnstone 2.2 lines per ticket Less Corrected GP $ (2.57)



Inventory Problems
(not meant to be all inclusive)

Men 13

(not meant to be all inclusive)



Potential Problem #1: Unreceived
*See handout

Summary: Inventory hits general ledger at the time 
of vouchering.  

Detail: Inventory hits the system when it is 
received.

Solution: Monthly Journal Entry to account for 
what has been received but not vouchered.

Steps

1. Use 13.20.2 for vouchering

2. Close AP on the 1st

3. Run 13.20.7 on the 1st

4. Monthly Journal Entry

(Debit Inventory, Credit AP Accrual)



Run Menu 13.20.7 at month end for 
reversing Journal Entry

Inventory Journal Entry #1

Inventory XXXXX

Inv. Accr XXXXX



Potential Problem #2: Stock Adjusts
*See handout 

Summary: Stock adjustments hits general ledger 
with a journal entry

Detail: Stock adjustments hits the system when 
they are made

Solution: Monthly Journal Entry to force the 
general ledger to reflect stock adjustments

Steps

1. Monthly Journal Entry – can be automated

Menu 35.7 #5

1. Monthly Journal Entry – using EOM report or 
8.4a entry summarizing stock adjustments

(Debit/Credit Inventory, Debit/Credit Expense Account)



Stock Adjustments

Inventory Journal Entry #2



Potential Problem #3: Discrepancies

Summary: What the vendor bills the store at is 
what updates the general ledger

Detail: Product is received at what the Purchase 
order shows and updates average cost (which 
might be wrong….)might be wrong….)

Solution: Record differences between the PO cost 
and the vendor invoice cost BUT get the PO 
right the first time!  (Use Corp & Vendor 
Acknowledgements)

Steps

1. Use 13.20.2 to voucher your Vendor Bills



Potential Problem #4: Warranty/SRs
Warranty system/Vendor Returns menu have to 

be used correctly 

Solution: Follow the directions ☺ because the 
offsetting entry is INVENTORY

Steps

1. Process HAS to start with Order Entry credit

2. Don’t use 15.9 for anything other than viewing

3. Close Claims & Voucher Vendor Credit 
Memos in same GL period.

4. When closing claims in 15.11 make sure the 
Warranty AR Account is being used (12.1.7)

5. When vouchering Vendor Credit Memo use 
13.20.1 and voucher the credit amount NOT 
the claim amount



Widget
Avg. cost = $10
Sale Price = $12
Credit from Vendor = $25

Warranty

1 Cre di t Me mo (m1.2) 10 12 12 10

2 Wa rra nty Upda te  (ME) 10 10

3 Cre a te  Cl a i m (m15.3) 10 10

CREDIT REC'D

4

Pos t Cre di t-Cl a i m 

(m15.10) 15 15

5

Vouche r Cre di t 

(m13.20.1) 25 25

RECEVING

4 Re pl a ce me nt (m15.11) 10 10

Wa rr Di s cre p A/PInve n Sa l e s A/R COGS Wa rr Pe nd Wa rr A/R



Potential Problem #5: Buyback
*See handout 

Summary:  General Ledger isn’t updated with 
invoices on the Buyback accounts: Sales, Cost 
of Goods, Accounts Receivable or Inventory
aren’t impacted.

Detail:  The Buybacks (rotational or 90-day) reduce 
on-hand counts (and inventory value).on-hand counts (and inventory value).

Solution: Need to make a journal entry to reflect a 
change in inventory value for what was returned. 

DO NOT want to change the customer – don’t 
want to update Sales (1%), REORDER product 
(exceptional sales), create an AR INVOICE, or 
impact GROSS PROFIT



Potential Problem #5 cont’d
*See handout 

Steps

1. Corp needs to be set up as a customer… 
correctly

2. Use EOD/EOM report to create Journal Entry, 
at cost for each buyback  invoice
Debit Buyback Expense/Credit InventoryDebit Buyback Expense/Credit Inventory

3. Cost of Freight to send product back can be 
coded to Buyback Expense

4. Credit from Corp is posted to Buyback Expense

5. Resulting expense in Buyback Expense 
Account is COST of Buyback (“restock” & 
freight)



Potential Problem #5 cont’d
*See handout 



Potential Problem #6: Physical Inv
Summary: Updating the Physical Inventory counts 

does not update the general ledger.  

Detail:  The Physical Inventory process updates 
on-hand (and subsequently inventory value) at 
the time the inventory is updated.

Solution:  It is necessary to make a journal entry to 
record the variance from the Physical Inventory

Steps

1. Using the Final Variance Report, create a 
journal entry to reduce/increase inventory 
value



Potential Problem #7: Part Numbers
Using the system to track items not carried as 

inventory: Office Supplies, Payroll hours, etc

Solution:  IF you are going to carry an on-hand 
count, then you must treat it as a product –
receive, bill, handle average cost AND/OR 
make sure the Inventory Bypass flags are set make sure the Inventory Bypass flags are set 
correctly

Steps

1. Do stock adjustments to bring on-hand count 
to zero.

2. Set Average Cost to $0.

3. Product Master, Screen#1, Fields 25 (Y) and 
26 (N)



Product/GL Control

Menu 12.3.3



Product/GL Control
Set-up Product –

Only works with Product CLASS in Product MASTER



Product/GL Control
Trial Balance



Potential Problem #7 cont’d:
C99 items are EVIL!

Use sparingly IF ever.

Steps

1. Average Cost should be set to $01. Average Cost should be set to $0

2. Never end the month with Quantity on Hand

Why

1. Too many transactions skews the cost/sell 
and the EOD calculation then skews gross 
profit data

2. Can’t track customer’s true purchases

3. Ignoring history that could suggest you stock 
an item

4. What else…..



Potential Problem #8: Vouchering
Not using 13.20.2 to post merchandise invoices

Solution: Use 13.20.2 to post merchandise 
invoices

StepsSteps

1. Use 13.20.2 to post merchandise invoices.



Potential Problem #8:
13.20.2 is the ONLY process by which stores can be certain 

that any discrepancies between the PO and the Bill are 
addressed correctly for both the summary and the detail 
values.

How

• IF there is a discrepancy between the Bill and the PO:

W/ Quantity on hand – Average Cost is updated (D)

W/ NO Stock – Variance is posted to Cost of Goods (S)

• Profit AND Average Cost are addressed

• Allows for tracking of variances

• Can Update costs for future POs

• Won’t pay for product that you didn’t receive

• Won’t pay for product twice that you only received once

• Create an accurate listing in 13.20.7 for Journal Entry

• What else…



Vouchering/GL

PO Qty 3

Po Cost $1.00 

Vendor Bill $2.00 Vendor Bill $2.00 

Inventory Detail Inventory Summary

Quantity ON HAND Average Cost Updated $6.00 Voucher to Inventory GL $6.00

NO Quanitity ON HAND NO Average Cost Update $3.00 Voucher to Inventory GL $3.00

Variance to COGS & 

update to income 

statement to correctly 

impact profit $3.00

$6.00



Potential Problem #9: ReOpening PO

Reopening a PO is BAD

Solution: Don’t REOPEN a PO. 

*IF a PO is received, reopened and then re-received 

the average cost calculation was just done 

THREE times, instead of one for EVERY item on THREE times, instead of one for EVERY item on 

the PO. 

*Hiccups in System if those parts are on pick tickets 

when PO is reopened

*Doesn’t work with Dropships.

Discuss

Why people reopen POs and alternatives



Potential Problem #9 cont’d:

Negative POs are BAD

Solution: Don’t Use Negative POs. 

*IF a PO is received the average cost calculation is 

done (ignores the negative)

Discuss

Why people reopen POs and alternatives



Potential Problem #10: Math Errors

Manually calculating average cost AND doing it 
incorrectly (or keying incorrectly in 13.20.2)

Solution: The calculation is complex. Only a 
select few should have access to product 
detail to change average cost detail to change average cost 

Steps

Use a calculator

Proceed with caution when updating average 
cost in product detail

Proceed with caution when updating costs in 
13.20.2 – attention to detail before ‘U’pdating



Potential Problem #11: Transfers

Summary: Store transfers, like Buyback, has no 
General Ledger impact on our S01/S02 system

Detail: Inventory is updated at the time of invoicing 
and receiving

Solution: Monthly Journal Entry to account for 
product that is moved between stores – Use 
EOM report to prepare entry

Steps

1. Monthly Journal Entry to Debit/Credit 
Inventory Accounts

2. Can be automated IF one corporation (m35.7, 
field #1)



Multi Stores:  EOM Account for inventory transfers 
S01/S02/S03

Inventory Journal Entry #3



Potential Problem #11:

Additional items to note about store transfers 
(S01/S02)

• Product by default, will move between stores at 
average cost (RECENT BUG FIX)

• If stores want to markup between stores, using 
S01/S02 it has to be:

branch cost  + X% OR direct cost  + X%

PO/Order has to be rolled IMMEDIATELY

• Customer Detail = Vendor Detail 



Potential Problem #12: JE Posting

Erroneous postings to the Inventory Account, such 
as freight, vendor rebates, warranty credits, etc

Solution: Only run product received on 
PURCHASE orders through the inventory 
account.account.

Steps

1. Transactions through the inventory account 
should be limited to Sales Journal, Warranty 
Journals, Purchases Journal and the 3 
Journal Entries previously discussed

2. If it isn’t received on a PO, then find another 
account to run it thru.



Potential Problem #13: Dropships
*See handout

Not using Dropship Invoices and POs correctly

Solution: Make sure every DIN transaction is 
accompanied by a DPO.  Possible that 
inventory count is increased, but not relieved 
OR relieved, but not increased.OR relieved, but not increased.

Steps

1. Best Practices dictate that one person 
receives and bills dropships

2. Verify in 19.7b that every DIN has a DPO and 
vice-versa

3. Use TWO EOD reports (01-160 and 01-161) 
to regularly monitor and cross reference 
dropship invoices and POs.



Potential Problem #14: Receiving

Invoicing Product before it is received.

Solution: Product MUST be received before it is 
invoiced, not just in the same day.

StepsSteps

1. Receive

2. Bill



Potential Problem #15: OE Errors

Changing the cost on the line item detail in Order 
Entry. System relieves inventory at that cost 
and NOT average cost

Solution: Cost in the line item detail in Order Entry 
is password protected for a reason and should is password protected for a reason and should 
not be changed.

Steps

1. Don’t change cost in invoice



QuestionsQuestions



Class EvaluationsClass Evaluations



Thank YOU!Thank YOU!


